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PHILOSOPHY

Course ID : 50611 Course Code : AH/PHI/501C-11

Course Title: Indian Logic-II

Time:  2 Hours Full Marks: 40

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ ¸—øé¬l Î¬◊Mı˛ ±› –

(a) What is pada—˜Áakti?

Û˙øMê fl¬±Àfl¬ ıÀ˘∑

(b) What is SøıËd–˝Á—˜Áya?

¸±‘̇ … fl¬±Àfl¬ ıÀ˘∑

(c) What is vyaÃˆÈjanøıË?

ı…?Ú± fl¬±Àfl¬ ıÀ˘∑

(d) ‹What is meant by khyøıËti?

‡…±øÓ¬ ˙Àsı˛ ’Ô« fl¬œ∑

(e) What is yoga-r”ıË¬˝›ha pada?

Œ˚±·ı˛+Ï¬ˇ ¬Û fl¬±Àfl¬ ıÀ˘∑

(f) What is upamøıËna?

Î¬◊¬Û˜±Ú fl¬±Àfl¬ ıÀ˘∑

(g) What is ÊprøıËmøıËÃ˝ÈyavøıËda?

√õ∂±˜±Ì…ı± fl¬±Àfl¬ ıÀ˘∑

(h) What is —˜Áakti?

˙øMê fl¬±Àfl¬ ıÀ˘∑
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2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Briefly explain with an example the definition of upamiti as given in the TarkasaÀ˝flgraha.

5

Ó¬fl«¬¸—·ËÀ˝ √õ∂M Î¬◊¬Ûø˜øÓ¬ı˛ ˘é¬ÌøÈ¬ Î¬◊±˝ı˛Ì¸˝ ¸˝À˚±À· ¸—Àé¬À¬Û ı…±‡…± fl¬ı˛/

(b) Explain the means of —˜Áaktigraha according to Annambha“˝Â“˝Âa. 5

’iß—ˆ¬ÀAı˛ ˜ÀÓ¬, ˙øMê·ËÀ˝ı˛ Î¬◊¬Û±˚˛ ı…±‡…± fl¬ı˛/

(c) Explain the extrinsic validity (paratΔ˝Ë-prøıËmøıËÃ˝Èya) of knowledge according to Annambha“˝Â“˝Âa.

5

’iß—ˆ¬ÀAı˛ ˜ÀÓ¬ :±ÀÚı˛ ¬Ûı˛Ó¬– √õ∂±˜±Ì… ı…±‡…± fl¬ı˛/

(d) What is —˜ÁøıËbdabodha? What is its køıËraÃ˝Èa? 4+1

˙±sÀı±Ò fl¬±Àfl¬ ıÀ˘∑ ¤ı˛ fl¬±ı˛Ì Œfl¬±ÚøÈ¬∑

(e) Explain and illustrate the diffeerent kinds of lak—˝ÁaÃ˝Èa, following AnnaÀ˝flbha“˝Â“˝Âa.

’iß—ˆ¬AÀfl¬ ’Ú≈̧ ı˛Ì fl¬Àı˛ øıøˆ¬iß √õ∂fl¬±ı˛ ˘é¬Ì±&ø˘ Î¬◊±ı˛˝¸˝ ı…±‡…± fl¬ı˛/

(f) Discuss the intrinsic validity (svataΔ˝Ë-prøıËmøıËÃ˝Èya) of knowledge.

:±ÀÚı˛ ¶§Ó¬–√õ∂±˜±Ì… øı¯∏À˚˛ ’±À˘±‰¬Ú± fl¬Àı˛±/

3. Answer any one of the following questions: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Explain øıËkaÃÛÈk—˝ÁøıË, yogyatøıË and sannidhi as the conditions of verbal cognition (—˜Áabdabodha)

˙±sÀı±ÀÒı˛ ˙Ó«¬ı˛+À¬Û ’±fl¬±é¬±, Œ˚±·…Ó¬± › ¸øißøÒ ı…±‡…± fl¬ı˛/

(b) How does the NaiyøıËyikas explain the theory of error after AanaÀ˝flbhø˝Ë“˝Â“˝Âa.

 ΔÚ˚˛±ø˚˛fl¬·Ì wÀ˜ı˛ ı…±‡…± fl¬œˆ¬±Àı øÀ˚˛ÀÂÚ∑ ’iß—ˆ¬AÀfl¬ ’Ú≈̧ ı˛Ì fl¬Àı˛ ’±À˘±‰¬Ú± fl¬ı˛/
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